APP€y L1

ST UDY LCLENTRE

TNPSC GROUP I MAIN EXAM - 2023
MANDATORY TEST VI
PAPER I RELATED CURRENT AFFAIRS

Total Marks: 250 Time: 3 hrs

Section A
10 x 10 =100
Answer the following in 150 words each

1.  Explain in detail about Vallalar’s Teachings with special reference to Jeeva Karunyam.
aueiteeunflest GuTHemendeT GUBILLTS 3w Smpewiwd UBp alifleurs alend@as

2. Write in detail about the Significance of Channar Revolt in women emancipation.
Guewmt alBHemevuied Cxpme Femev CUIITLL SHFHletT (PHSlwGHHeuDd LB alfleuTs erwHs

3.  Briefly explain about the history and activities of National School of Drama.
Gxdlw mrLsULeTefuler euyeomml WBmID CFweeOLTBHT GBHH HHIHLTH allendEGHd

4.  Explain about PM Adi Adarsh Gram Yojana and its objectives.
Mrsofer op8h SsHTas SHImo S oBpIb DigHar Chrhamisst LB alend@s

5. Write a short note on
fpeBiy eumrs

a. SMILE

b. NAMASTE

6.  Write a note on the evolution of Mission Vatsalya and its Objectives?
uTHFeowT FH L GFHler uflewmond wBBID DiHer Crrdemss GBSHH GBI euenTs

7.  Discuss the need and key features of the Rajasthan Health Act.
BITemevFTeie SFSTHTY FULSHHe CHemeu LBDID (WoHHW SibgmiseT U alleurs)

8.  Write a short note on
fpeBiiy umrs

a. TB Mukth Bharath Abhiyan
&s1FCHTUI (pdHdh umysh DTwimest

b. Intensified Mission Indradhanush 4.0
SalFlLESSILL L QbhIHTHmIas Husbsd 4.0
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10.

Answer the following questions
LeTeu(hlD e eTehEEhdE alenL W6l

a. A school ground is in the shape of a circle with radius 103 m. Four tracks each of 3 m

wide has to be constructed inside the ground for the purpose of track events. Find the
cost of constructing the track at the rate of Rs. 50 per sq.m. (5m)
@ ueTefuler alememwim’ BgH Hed 103 16 SuFUpsiTen el L algaled o 66Nl IS a0 EG 6l
PeUCeuTeipId 3 15 SiBev(peien BT PBBeTEEeT (track) owwsslLGSEBT. @ &F.L5-
&& 550 iz, SbHS BN LTHHHN6T GUQEUMLSES UG OTHHEF OCFeveneud
BT B ([Hb

b. The population of a city is 125000. If the annual birth rate and death rate are 5.5% and 3.5%
respectively, calculate the population of city after 3 years. (5 m)
QM BETSHH EHH6MesTms 125000. euewi® Umplny oisd wBpid @miy «isn  (WepGu
55% wmpid 3.5% erafled, 3 WIBBEHEGL LIBEG BBIHHET DHHTOBTINHMUID HTCRISH

Answer the following questions
Letteu(pd eleimédehdE alenL w6l

a. A principal becomes % 10,050 at the rate of 10% in 5 years. Find the principal. (5m)
T o160 oawihdd 10% ey aissde0 5 ouemipaeied 510,050 SLF 2 WiMhHH elafev,
SIFM6VSH  BHITCWIH

b. 25 bags of wheat each weighing 40 kg cost Rs 2750. Find the cost of 35 bags of wheat, if

each bag weights 50 kg. (5 m)
40 HBoor eTeMLUleTom 25 el eml Bz aflewed eh.2750. @euGleun(h el el ujd 50 &HGsum
L AHbSHTeY, 35 el el Basmgiemiouler aleneoeniids HTewns

SECTION B
10 x 15 =150

Answer the following in 250 words each

11.

12.

13.

14.

Discuss the significance of Vaikom Satyagraha towards social freedom.
gepd alHHmeoulled MaUSED FHAWTHTSSHH & (PhHWSHHUD SPHH aleuTdHds

Why Dayanand Saraswathi is called the Martin Luther of Hinduism? Write a note on
the principles and signifance of Arya Samaj.

SWUTehd FJeaveud gl  SbIIOSHHHeT  OMTIQeT  UTHT 6l  DePSHSLILGHDBIT?  SyTul
FOTMSHSHeT OBTeTmeH6T OBEILD (PHHWSHSHID SNBSS SBILL UmIH

Write a detailed note on the objectives, components, and activities of Mission Shakti.

F53 HULSHH CHToHImIS6T, FmBIHeT LHBBID OFweUThHeT GBlHH alfleuts 6psHs

Write a short note on
FpeBiiy euemys

a. Shyama Prasad Mukherji Rurban Mission (SPMRM) and its Objectives.
agwmo Uysns waTed iuer S L (SPMRM) wppid oiper Chrbsmissl

b. Atal Mission for Rejuvenation and Urban Transformation Scheme (AMRUT)
SIL6D UdHHlewiTe] LOBHBID BSTUILB WIBBSHSBeTen S LD

c. Housing for All (PMAY-G)
smaapsah o (PMAY -G)
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15.

16.

17.

18.

19.

Write a short note on
FAPIGHILY euemyes

a. Skill Acquisition and Knowledge Awareness for Livelihood Promotion (SANKALP)
AUTPATHTIHMSH 2 WiTHHH CQsmeren Hmer OUBIHeL WwBLID DpslealBaTer alflliewrTalBaTeo
gL (SANKALP)

b. National Rural Health Mission (NRHM)
Capdlw eags astsy HLb (NRHM)

c. Accredited Social Health Activist (ASHA)
SO LIeHfWLITETE6IT

Is India's Population Growth A Boon or A Bane? Whether changes in the population trends
swing a gender revolution?

@hHWmaler HHTOSTNS UeNTFS @FH 6UJIT DlevevGH FTUT?  DSHMOHTeND BCUTHEGH6160
gmuUBLD TBBRIGeT LTeler LIl dlenwl gmuUBSHHIT?

Write a detailed note on the Startup Ecosystem in India and its Significance.
@hHwmaler eOLTT. DI 2 (HeUTeUSHBEHTT GO0 LOBBID DIHeT (PSS GBHH alfleurs
OIESE

What are the key initiatives taken by the Central Government to enhance Quality Education
for All.

SimaTal(hHGD STl Hevalmwl GCLbLGHS WHHW DFa  hSHIHleTen  (PHSW  (PpUBSH6
616016017

Answer the following questions
eiTeu(HlD aeTehE6hdbE alenl U6l

a. A sum of money becomes 318000 in 2 years and 340500 in 4 years on compound interest.
Find the sum and rate of interest. (7.5 m)
QT SlFTadH FLG ey (Wepuled, 2 ewihdefed @h.18000 Sysad, 4 SuemiBaere0
.40500 BAD HYFBH 6TR60 DIF6L LOBMILD QULLY ATHHMBUID HT6wIH.

b. A tree breaks due to storm and the broken part bends so that the top of the tree touches the

ground making an angle of 30° with the ground. The distance between the foot of the tree to the
point where the top touches the ground is 8 m. Find the height of the tree. (7.5 m)
CrTb@HaTear @ WIS  Goeoursd stBpleamed  wpilbs, Swepshs uGsH  S6W
al1pbaIOILToeD, WIsSHar o &8 soyuer 30° Garauidmsd gBUBSBHIBMS. WISHa o &
oIBaT  olguledmbas 8 I8 OFTemevaled Hmgemwld OHTHHBH  eTelev, OIS (LD
2 WTHMBHS SIS
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20.  Answer the following questions
LeTeu(hlD e eTehEEhdE alenL W6l

a.

4 | Page

If 12 men and 16 boys can do piece of work in 5 days and if 13 men and 24 boys can do it

in 4 days, how long will 7 men and 10 boys take to do it ? (7.5 m)

R Gouemevenul 12 SiewidEHD 16 FpeuTHEnd 5 HIL&6M60 OQFWIW (Wgujb. 13 LEmTSHEHLD
24 FpieTeeEpd 4 BHIL&6M60 SHmHF OFuIw (PYub eTeiled, 7 SLewiseEnd 10 FmeuTaernd
aHFHme BT H6eile0 DieIGaemevenw CFUISHILPIQLILITTSEIT.

Water in a cylindrical tank of diameter 4 m and height 10 m is released through a
cylindrical pipe of diameter 10 cm at the rate of 2.5 Km/hr. How much time will it take
to empty the half of the tank? Assume that the tank is full of water to begin with. (7.5 m)
4 15 ellL@pd 10 15 o wgQpsiien o _(Hemell algaud BT 1guisvieien Hewienigmergl 10 OF.0
all(pelemr @@ 2 (hewenm  auged  Gmul  auPflCw  wewldE 2.5  HB  CausshdHed
CeoueMCWBBLILGHBH. QBT 1guled uTHweney Hewrewit OCeuelGuBBLLL  SGD CHIHmHd
HTeTH. (QLTIDL Blemevuled QBT g (LPPGUHID HewTewfT BIFLILILL BeTengl 61erdb0\ET6iTs)
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